WA G A BRAMR:2018

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

T.B.C. : SRCY-S-ADN ~ Test Booklet Seri

seralNo. M

' :

TEST BOOKLET
MATHEMATICS

Time Allowed : Two Hours and Thirty Minutes Maximum Marks : 3(

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THA
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEM
ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Te
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at t}
appropriate places in the OMR Answer Sheet. Any omission/diserepancy will render the Answsi
Sheet liable for rejection.

You have to enter your Roll Number on the
Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet. o

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and Englisi
Each item comprises four responses (answers). You will select the response which you want to maz
on the Answer Sheet. In case you feel that there is more than one correct response, mark tk
response which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directior
in the Answer Sheet.

All items carry equal marks. _

Before you proceed to mark in the Answer Sheet the response to various items in the Test Bookle
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with you
Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination ha
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted |
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN TH
OBJECTIVE TYPE QUESTION PAPERS.
(1) There are four alternatives for the answer to every question. For each question for which a wrong answe

has been given by the candidate, one-third of the marks assigned to that question will be deducted
penalty.

(i1)  Ifa candidate gives more than one answer, it will be treated as a wrong answer even if one of the give
answers happens to be correct and there will be same penalty as above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for th:
question.

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE TOLD TO DO SO

ST G ;TR 1 R TR §9 gfeenT & fse 98 Wosm # |

SRCY-S-ADN : (1-A)



SRCY-S-ADN

www.govtjobsalert.in

If n € N, then 121" — 25™ + 1900" — (- 4)" is
divisible by which one of the following ?

(a) 1904
(b) 2000
() 2002
d 2006

If n=(2017)!, then what is

1 1 1 1
+ + t et —
logzn logan log, n

10g 917, 1

equal to ?
(a) O

(s

(c)

ro| B

(d n

)%, if the coefficients

In the expansion of (1 + x
of (2r + D' and (r + 2)® terms are equal, then

what is the value of r (r # 1) ?

(a) 5

(b) 14
(0 21
(d) 22

(2-A)

What is the principal argument of (-1 — i),

wherei= /-17

(a) /4
(b) —m/d
() —3mf4
(d 3mn/4

" Let o and B be real numbers and z be a

complex number. If z?2 + 0z + B = 0 has two

distinct non-real roots with Re(z) = 1, then it is

necessary that
(a) Be(=1,0
(b)  |B] =1

() PBe(d,e)

(d pe(,1)

Let A and B be subsets of X and
C=(ANB)U (A N B), where A’ and B’ are

complements of A and B respectively in X.
What is C equal to ?

(a) (AUB)-(ANB)
(b) (A'UB)-(A'NB)
(cd (AUB)-(ANB)

@ ((A'UBY-(A'NB)
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¢ n e N8B, @ 1217 - 257 + 1900" — (= 4)
fafafea & o froa oy 2 2

(a) 1904

(b) 2000

() 2002

(d) 2006

Ife n=(2017)! B, @I

1 1 1 1
B + st —————
log, n log3 n log4 n 10g2017 n
ferEreh SR & 7
(a) O
by 3
n
) —
@ 5
(d n

(1+x® % y8r #, afe @r + 1 3 ¢ + 2@
UGl % U SIS 8, @ r(r# 1) B WE #
292 '

(a) 5

(b) 14
() 21
(d) 22

4.

(-1- )W i= "1 %, & J&T HUiF T
27

(a) mf4
(b) -mnf4
(c) —3nfd
(d) 3m/4

AH SN o 3R B adfass @ & 3 2 th
gy 9w 8 I?ﬁz2+az+|3=0a-?Re(z)=1
% W1y g T srawdfes g &, @ 98 orevas
2 f%

(@ Pe(-1,0
(b) |B]=1

(c) Pe(l,e)
(d PBe(0,1)

mﬁmAﬁnB,x%WﬁaﬁI
C=(ANB)UMA NB) R, T& A 3R B
HAI: AN B, XH T & | C Formss smen
2?7 |

(@ (AUuB) -(ANBY
(b) (A'U B)‘— (A’ N B)
(¢ (AUB)—(ANB)

d (AUB)-(A'NB)
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7. How many numbers between 100 and 1000
can be formed with the digits 5, 6, 7, 8, 9,_if
the repetition of digits is not allowed ?
(a) 8°
M) = 52
(ec) 120
(d) 60
8. The number of non-zero integral solutions of
the equation |1-2{|"=5" is
(a) Zero (No solution)
(b) One
() Two
(d) Three
9. If the ratio of AM to GM of two positive
numbers a and bis 5 : 3, then a : b is
equal to
(a) 8:5
(b) 2:9
(e} 93l
(d 5:3
SRCY-S-ADN

11.
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10.

If the coefﬁcieﬂts of a™ and a® in the
expansion of (1 + a)™*™ are o and P, then

which one of the following is correct ?

(a) a=2p8
(b) a=B
(05 20=13
(d) a=(m+n)

If x + logys(1 + 3%) = x log;55 + log;512,

where x is an integer, then what is x equal to ?

(a) -3
(b) 2
€. 1
d "3

How many four-digit numbers divisible by

10 can be formed using 1, 5, 0, 6, 7 without

repetition of digits ?
(a) 24
(b) 36
(c) 44
(d) 64
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100 3R 1000 % o=, 37! 5, 6, 7, 8, gﬁgﬁmﬂ
AU &9 Ghdl @, Afe 37ehi [ <Al g &l i
ST 2

(a) 8°
(b) 53

(¢) 120

HISHTT |1 - 2i|* = 5% % YL QU &l
T fohat & 2

(a) I[A (Ehﬁ & Rl)
(b) TUsh
©

(d) o

g & UrleHsh AT a 3T b % AM (FHIK
wie) ¥ GM (O HTEA) TSI 5 : 3 B,

Fﬁa:b%ﬂaﬁwg?

(a) 3:5

(b) 2:9

(e) -9:1

(d 5:3

11,

12,
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10. IR (1 + ™" F v@R & a™ R 2" & oI

o 3R p &, 91 Frefafad § @ wb-ar ad R 2

(a) w@=2B
(b) @=f
() 2a=p

gfe x+log15(1+3x):xlog155 +log; 12, ST&l
x Teh qUTTh &, i x foheh e 8 2

(a) -3
(b) 2
¢ 1
(d 3

ﬁ@gﬁt@%%qﬁm 1, 5,0, 6, 7 1 FA
Hh 10 8 i 89 areft ow el A fpadt

HEAT §HTE ST bt & 2
(a) 24
(b) 36
(o) 44
d 64
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Consider the information given below and
answer the two items (02) that follow :

In a class, 54 students are good in Hindi only,
63 students are good in Mathematics only and
41 students are good in English only. There
are 18 students who are good in both Hindi
and Mathematics. 10 students are good in all
three subjects. :

13. . What is the number of students who are good
in either Hindi or Mathematics but not in
English ?

(a) 99

(b) 107
(c). 125
(d) 130

14. What is the number of students who are good
in Hindi and Mathematics but not in English ?
(a) 18
(b) }2
(). 10
d) 8

15. If o and B are different complex numbers with
|| =1, then what is |—— i equal to ?

1—ap
(a) |B]
(b) 2
k) s
d 0
SRCY-S-ADN

16.

17.

18.

The equation |1-x| +x?=5 has
(a) arational root and an irrational root
(b) two rational roots

(e) two irrational Toots

no real roots

(d)

The binary number expression of the decimal

number 31 is

1111

(a)

(b) 10111
(c) 11011
(d 11111

What is ;1000 4 ;1001 , ;1002 , ;1003 equal to
(where i= /—1)?

(a O
(b) i
(e =i
d 1
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7| g 7F gEAr @7 faemr Fifae siiv st A a1 | 16,
3t (02) ToA) & I FHorg:

Tsh HeT U, 54 B had gl H J=B 8,
63 B hadl TG H 3T=S & AN 41 BF Had
Il d a8 B 1 18 B W o 2= 3k
i g § o= B | 10 B dF faw #
I 8 |

13. UH IE A g fhadt 2 oW @ f@= o
Tforg # sres € i Sl § o= T d 2
(@) 99 ’ o
(b) 107
() 125
(d) 130

14. W@ BE A gen fha 2 9 R o e §
3T=0 B Aferd 3Tft § om0 7 § 2
(a) 18
(b) 12
() 10

(d) 8

18.
15. 3 o 3 p Pefm oy gemt € v

la| =18, @ 1“_‘@% orme st 8 2
(a) |B|

(b) 2

() 1

(d 0

SRCY-S-ADN ' (PR

iRl |1-x | +x2=5 % &

(a) Ueh IR o 3 Tk i go
(b) g ufe g

(c) Tl TUNHT g&T

(@) =1g it arfaes gor &

TIAAT E©IT 31 W fesnurl Twn =i

(erfireafer) &

(a) 1111

(b) 10111
(¢) 11011
(d) 11111

ilOOD + ilOUl + 1:1002 + 1:1003 ﬁ;gﬁ:‘ ST %

(Safi= 1) %

(@ 0

(b) i

() -1

(d) 1
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What is
1) 1 1 1
+ + e F————
log2 N ln:)g3 N log4 N logmo N

equal to(N#1)?

1}

(a) ——m—
loglm! N

1}

b O S

() log99l N
99

(c) _
IOgl(}O! N

99

d -
s loggm N

The modulus-amplitude form of Jg + i, where

=1 is

‘What is the number of non-zero terms in the

expansion of (1 + 243 x)11 + (1 - 243 x)11
(after simplification) ?

(a) 4
(b) 5
() 6
d 11

22.

23.

24.

(8-A)

What is ‘the greatest integer among the
following by which the number 5%+7° is
divisible ?

.(a) 6
(b 8
(e} 11
(d) 12

If x=1-y+y2—y>+.. up to infinite terms,

where |y| <1, then  which one of the
following is correct ?
(a) =x= L
1+y
(b) x= -
1-v
(e) =x= N
1+y
c(d)- %= Y
=3

What is the inverse of the matrix

cos 0 sin 0
A=|—-sin® cos® O0|?
0 0 1.
cosf) —sin® O
(a) sin 0 cos 0 0
0 0 1)
‘cos®O 0 —sin®
(b) 0 1 0
sin 0 cos 0
al 0 0
(c) 0 cos6O -—sinb
LO sin 0 cos 0
cos 0 sin® 0
(d) —sinfh cosb® 0
g 0 1,



1 1 1
19. + +
10g2 N log3 N log4 N 10g100 N
forEes ST R, (N2 1) ?
1
(a)
lOgIOO! N
1
(b) 10g99! N
99
() ————
10g100! N
99
P Ioggg' N
20. V3 +i, W@ i=.—1 B, 1 WIH-TEH &9 &
(a) 2((:05 g—usin—]
(b) 2(::05 E+isin£)
6 6
(e) 4[005 U sin E)
3 3
¥ T
(d) 4[(:03 —+Lsng
2L (1+2V3x)M +(1-2/3x!"% R § IR
TG I G et 8 (Seie & w1g) 2
(a) 4
(b) 5
(c) 6
d 11
SRCY-S-ADN

23.

24.

(9-A)

bl i T T RP————

T 5° 4+ 7° s & 2
(a) 6

(b) 8

(e} 11

(@) 12

aﬁx=1.—y+y2—y3+...3-'l':iﬁq?ﬁﬂ$,3ﬁ
ly| <18, a1 F=fafad 9§ @ w991 a8t & 2

1
(&) X=1+y
1
(b) x:m
(e) x=1_{y
(d) le_ff
SR
cos 0 sin 6
A= |-sin® cos o}wsr%&ﬁnw%?
0
cos® -—-sin® O
(a) sin 6 cos 6 0
| 0 0 1
cos® 0 -—sind
(b) 0 1 0
sin 0 cos 0
1 0 0
(c) 0 cosB —sinb
0O sin#® cos 0
cos 0 sing 0
(d) —sin® cos® O
0 0 1}




25.

26.

27.
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(b)
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If A is a 2 x 3 matrix and AB is a2><5matr1x

then B must be a

(a)

3 x b matrix
5 x 3 matrix

3 x 2 matrix

(c)

(d)

5 x 2 matrix

1 2
IfA=[ }andAz—kA-—LA:O,wherelz
2 3 ,

is the 2 x 2 identity matrix, then what is the

value of k ?
(a) 4

(b) -4
() 8

d =8

What is the number of triangles that can be

formed by choosing the vertices from a set of

12 points in a plane, seven of which lie on the |

same straight line ? ‘

(a) 185

(b) 175
(c) 115

(d) 105

obsalert.in

28.

29.

30.

CAD A

What is C(n, r) + 2C(n r—1) +Cn, r - 2)
equal to ?

(@ Cm+1r)
(b.) Cn-1,r+1)
() C,r+1)
(d Chn+2,r)

Let [x] denote the greatest integer function.
What is the number of solutions of the
= ( in the interval

equation %2 £ 4x #[x]

[0,21?

(a)

Zero (No solution)

(b) One
(¢) Two
(d) Three

A survey of 850 students in a University yields
that 680 students like music and 215 like
dance. What is the least number of students

who like both music and dance ?

(a) 40
(b) 45
() 50
(d)

55
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25. I ATH 2 x 3 3Hg & 3N ABTF 2 x 5
AR B, @ B a9 & BT =R
(a) 3 x5 3G |
) 5 x 3 TR
() 3x23Tg
(d) 5 x 2 AR

26. ?TE'A:[; i]aﬁtAB—kA-Izzo%,aﬁ
Iy, 2 x 2 ACHHS TR 8, A1 k T T 41 8 ?
(a) 4
b ~d
() 8
(d -8

27. U gHaa 4 12 fagati o v wy=w |, e w
7%@@ﬁwwm@a%,ﬁﬁﬁéﬁ§
TR SATC ST aTet Fysit 6 Hen @ 8 7
(a) 185
(b) 175
© 115
(d 105

SRCY-S-ADN

28.

29.

30.

(A A

Cn, 1) + 2C(n, r — 1) + Cn, r — 2) Tereeh ST

??

(a) Cn+1,r)

(b) Cn-1,r+1)

(¢) Cn,r+1)

(d) Cn+2r)

A= Y [x) HETH qUIeh el i Eifaa =i
2 | 37U [0, 2] H GHIHT x2 —dx + [x] =0 %
gl o Gear feadt 2 2
(a) I (HI5 &A T8I

(b) T

(© @
(d) doH

e favafaame™ 4 850 o1 % s gagor § 78
ww%ﬁsowwﬂaﬁﬁr@%%aﬂt
215 B T H | I SHT hl =FaH &I foherl

2 wehia o e AN o T E 2
(a) 4Q
(b) 45
(¢) 50
(d) 55
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31. What is the sum of all two-digit numbers
which when divided by 3 leave 2 as
the remainder ?

(a) 1565
(b) 1585
(c) 1635
(d) 1655

32. If 0 < a < 1, the value of log,,a is negative.
This is justified by |
(a) Negative power of 10 is less than 1
(b) Negative power of 10 is between 0'and 1

"(¢) Negative power of 10 is positive
(d) Negative power of 10 is negative

33. The third term of a GP is 3. What is the

product of the first five terms ?

(a) 216

(b) 226

(c) 243

(d) Cannot be determined due to
insufficient data

34. If %, 3/2, z are in AP; x, 3, z are in GP; then
which one of the following will be in HP ?

(a) x,6,z
(b) x,4,z
(c) x2,2
d x1,z
SRCY-S-ADN

35.

36.

317.

(12-A)

What is the value of the sum
11

Z(in +i“+1), where i = ﬁ?

(b) 2
() -2

d 1+

T
,where 0 < x < —,
2

Ifsinx——l—- sin.y-L
V5’ J10

0O<y< %, then what is (x + y) equal to ?

(a) =
(YR 7
(¢) m/4
(d 0

sin 5x — sin 38x
cos 5x + cos 3x

What is equal to ?

(a) sinx
(b) cosx
(¢c) tanx
(d cotx
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31. < 37! ol el waft TReeTt W AT T 7 , .
et 38 frfm w0 W e 2 S R 2 09 WZ(in+i“+l),G"ﬁ"i=ﬁ%,W

(a) 1565
(b) 1585 HH T 8 ?
(c) 1635
(a) 1
(d) 1655
(b) 2
32. A 0<a<1®, A logyya I A FUMHH g | © -2
g ThETT & FIh
d) 1+:
(a) 107kl ROTTcHe o1d 19 %A 8
(b) 10 ! RUTTCH: ©Td 0 3N 1 o9 # B
(¢c) 10 h! FUITcHeh HTd EFTCHS & 36. ﬂﬁsinx:%,siny:ﬁ,aﬁ0<x<%,
(d) 10 h! RUMcH® HTd FIMCHS & o<y<§%,?ﬁ(x+y)WW%?

3. fordft i Aoft (GP) T fEU Ug 38 1 FEH| (@) =

T G 9a] ohT TUFhe 9T B 7
(b) /2
(a) 216
(b) 226 (¢) m/4
(c) 243 W5 6
(d) 29T ed % s [uifa 98 e S
Hehdl

' Smox—sme
. il 37. feraer ST B 2
34, R x, 3/2, z @HIAL AV (AP) W §; x, 3, 27U | - cos 5x + cos 3x %

goft (Gp) § §; ot Ffafed & & s ag

e ofl (HP) 3 811 2 @] saz

(a) =x,6,z (b) cosx

(b) %4y (¢) tanx

(6) 2%

o il (d) cotx
? ? Z

SRCY-S-ADN (13-A)
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38. Whatis sin 105° + cos 105° edual to ? 41.
(za;) sin 50°
(b) cos_ 50"
© 142
@ o
39. In a triangle ABC if a=2, b=3 and
sin A = 2/3, then'what is angle B equal to ?
(a) m/4
(b) n/2 42,
(e n/3
(d n/6
40. What is the principal value of
si -1 [sin ~2—3EJ ?
('a) /4
() n/2
() =/3
(d) 2n/3
SRCY-S-ADN (14—A)

If x, x — y and x + y are the angles of a triangle

(not an equilateral triangle) such that
tan (x — y), tan x and tan (x + y) are in GP,

then what is x equal to ?

(a) /4
(b) ﬁ/3
() n/6
d) n/2

ABC is a triangle inscribed in a circle with

centre O. Let o = £ BAC, where 45° < o < 90°.

- Let B = « BOC. Which one of the following is

correct ?
- 2
(a) cosf= L tan2 2
1+ tan®a
2
)R 1+ tan2 (o}
1-tan“a
(" on Be Ztan;x
1+tan“a
(d) sinP=2sin?a




38. sin 105° + cos 105° fop8eh SU=L & 7
(a) sin50°
(b) cos 50°
© 12
d o0
39. Tk Biys ABC H, afg a=2 b=3 3K
sin A = 2/3 %, dl %I B foras SR 2 2
(a) ﬁ/4
() w2
(¢) w3
(d n/6
40. sin”! (sin %) T T HH TR ?
(a) mf4
(b) m/2
(¢) m/3
(& 2n/3
SRCY-S-ADN
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41.

(15-A)

afe wh By (S wwemg Bigs T8 R) F B0
x,x—y3ﬁ'(x+y3¥-[w%%tan(x—y),
tan x 3T tan(x+y)§”ﬁ?l'{avﬁ(GP)ﬁ§,Fﬁx
fopureh seR 8 2 ‘

(a) m/4
(b) m/3
(¢) /6
(d /2

42. &5 fag 0 9@ ™ I & Fwa T By

ABC B | AF #fifSlT o = ~ BAC, W&l
45° < < 90° 2 | UH ifSw p = ~ BOC & |
ffafaa 5 @ sHar ad 2 2
1-tan? o
(a) cosfp= ——m——
b 1+ tan?«
1+ tan“a
(b) cosP=
g 1-tan?a
2tana
(c) cosP=
b 1+ tan?a
(d) sinp =2 sin?«




43.

44,

45.

SRCY-S-ADN
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If a flag-staff of 6 m height placed on the top of
a tower throws a shadow of 2+/3 m along the

ground, then what is the angle that the sun
makes with the ground ?

(a) 60°
(b)

(e) 80°

45°

(d) 15°

What is tan™! [i] +tan™1 (%) equal to ?

(a) O
(b) m/4
() n/3

d) n/2

A spherical balloon of radius r subtends an
angle o at the eye of an observer, while the
angle of elevation of its centre is . What is the
height of the centre of the balloon (neglecting
the height of the observer) ?

r sin B
0 oL
S11 (EJ

r sin

(a)

(b)

) [3]
- I sin (—
(¢) AR

(d)

46.

47.

48.

(16-A)

If S'ln(x+y):a+b, then what is tanx
sin(x-y) a-b ‘ tany
equal to ?
a
(a) E
) 2
a
a+b
e a—-b
=i
d a
@ a+b

If sin o + sin B = 0 = cos o + cos P, where

0 < B < o < 2m, then which one of the following

is correct ?
(a) o=n-P
(b) oa=mn+p

Suppose cos A is given. If only one value of

oS [%J is possible, then A must be

(a) An odd multiple of 90°

(b) A multiple of 90°
(¢)  An odd multiple of 180°

(d) A multiple of 180°




44.

45.
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43. 3fg forelt HAR (W)%ﬁﬁm;ﬁﬁﬁ@sm

Fd eg9es hl GUad W 23 m TS BRT ISl
3, O g & 9Udd & WY T4 Tel BT H TH
fepa 8 2

(a) 60°

(b) 45°

(e) 30°

(d) 15°

tan™! [% +tan! [—2] feheh ST % ¢
(a) O

(b) mw/4

() /3

(d) n/2

r T aren v MR Tes, R SiEes
A W HU o AT FAT 7, SAeh IHD
Frgfeg B IHT BT BB | oA o shregleig

N T=g TR (Yerh T FAT Bl AT HEW
+d §Y) ?

Mn[g)

rsin 3

sin((—l}
4
: rsin(g)

sin o

(a)

(b)

(c)

r sin o

B

sin[ J ]
2

(d)

CYP=iA)

47.

48.

46. AR slln(x+y):a+b %, St tan x

sin(x—y) a-b tany

IS 8 ?

by 2

B

(b) h
a

. a+b

(

c) i
a—b

d

& a+b

Elﬁsina+sin[3=0=cosa+cosﬁ3ﬁ
0<P<a<2ng, d F=fafad d @ s wd
22 ;

(a)
(b)
(e)

(d)

a1 #T cos A féam mam 2 | AfE cos [%]?ﬂ

Shael Uh & A G &, A A BT 8 iR
(a) 90° I Th T TUrS
(b) 90° %I TH IO
(¢) 180° %1 Teh fwm Tur

(d) 180° T U U




49,

50.

(a) 2—“0
(b) {15
() %
(d) g
SRCY-S-ADN
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If cos o +cos B +cosy=0, where 0 < o < %,

T
2

sin o + sin f§ + siny ?

0<fB< g,0<ys , then what is the value of

(a) O
(b) 3
542
(C) T
3v2
(d) o

The maximum value of
sin (x -+ E) + cos (x + E] , wherex € (0, E] 2
5 5 2

is attained at

51.

52.

83.

(18-A)

What is the distance between the points which

divide the line segment joining (4, 3) and (5, 7)
internally and externally in the ratio 2 : 3 ?

12417
5

1317
5

J17
5

(a)

(b)
(c)

@) —6‘/?

What is the angle between the straight

3

lines  (m?-mn)y = (mn +n? x +n’ and

(mn +m? y=(mn -n?) x + m3, wherem >n ?

1 2mn

I1112+I].2

tan™

(a)

1 4m?n2
m—nt

(b)

tan

-1 41'1121'12

m4 +I'l4

(c) tan

(d) 45°

What is the equation of the straight line
cutting off an intercept 2 from the negative
direction of y-axis and inclined at 30° with the

positive direction of x-axis ?

(a) x-24/8y-342 =0
(b) x+2+3y-342 =0
() =x+ J§y—2\/§=0
d x-+3y-2v3 =0




49, If¢ cos o+ cos P + cosy =0, & 0 < o <
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2

o3

0<Bsg~, 0<7S% g, @

sin o + sin B + sin y T HE 8 ?

(a) 0

(b) 3
5v2

(C) T
3v2

50. sin [x+§)+cos (x-k%),\_rlﬁxe(o, g]%,
1 STferehay T ITod BT &
i
— W
(a) 50
B
(b) E &
N
— %
(e) 10
H 2|
(d) 5
SRCY-S-ADN

51.

52.

53.

(19-A)

3 fomgatl & e o gt w1 8 S (4, 3) 3N
(5, 7) %! ST AT {WIES I AR 37 A
T 2:3% 3ua § fawnfsa & 8 2

12417
5

13417
5

(a)

(b)

(c)

J7
5
g S
5
W @rei (mz—mn)y=(mn+n2)x+n33:ﬁ'(

(mn + m%) y = (mn —n?) x + m3, & m > n &,

& = T T TR 2

(a) tan™} anz
m“ +n
4m?n?

(b) tan!

m? —n?

(¢) tan! 42112n24
m- +n

(d) 45°

30 T WGT hT GHIRWT T B S y-31eT ohl
FUCHeh TG3M ¥ 2 1 Id: @S hedl 8. AN
-8 gATcHR famm % @y 30° W PH 3
87

(a) x-24/3y-342 =0
(b) x+23y-3+2 =0
(60 x++3y-243 =0"
(d x-+3y-243 =0
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54. What is the equation of the line passing
through the point of intersection of the lines
X+ 2y—-3=0and 2x —y + 5 = 0 and parallel
“totheline y—x+10=07?
(a) Tx—Ty+18=0
(b) b5x—T7y+18=0
(c) b5x—-56y+18=0
- (d) x-y+5=0
55. Consider the following statements :
1. The length p of the perpendicular from
the origin to the line ax + by = ¢ satisfies
2
the relation p? = £ :
a2 h2
2. The length p of the perpendicular from
the origin to the line S, % S
satisfies the relation -1-§~ = _12“ + —1-2—
p a b
3. The length p of the perpendicular from
the origin to the line y = mx + ¢ satisfies
2 2
the relation iz = 14—111%
P c
Which of the above is/are correct ?
(a) 1,2and3
(b) 1only
(¢) 1and2only
(d) 2only
SRCY-S-ADN

56.

57.

(20-A)

What is the equation of the ellipse whose

vertices are (£ 5, 0) and foci are at (£ 4, 0) ?

2 2
(a) X_+y_:1
25 9
2 2"
X ¥
b — +Z—=1
by 16 9
2 2
() 2Ny TN g
25 16
2 2
(W s =y
9 25

What is the equation of the straight line
passing through the point (2, 3) and making
an intercept on the positive y-axis equal to

twice its intercept on the positive x-axis ?
(a) 2x+y=5
(b) 2x+y=7
(e) x+2y=7

(d 2x-y=1
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54. 3H W@ w1 wHRE w0 R S t@isli |56, 3@ dieegw w1 wfieRr w2 R s 5, 0)
X +2y-38=03M 2x -y +5=0%% Nfd=ag forg g o fiEt (14,0 E 2
Y B TSR B SR W y—x +10=0%

AT B 2 2 2
? (a) X—+%:1

)}

(3.) 7X-—7y+18:0

(b) Bx—Ty+18=0

- 2 2
(¢) bBx—-5y+18=0 iy, e
16 9
(d x-y+5=0
2 2
. @) == ALN\A
55. Tr=fafea sl W fomm Fifv . 25 16
1. ﬂ@-ﬁ@ﬁi@ax+by':cmﬁﬂﬁ
B %
i 3 ;
R p, WY pP= — - H WA
a“+b x2 y2 ;
2. ¥afrg & Y@ §+%=1 RISRSC T
a
1 1. 1
AR p, WU S =— +— Hl GGR
P a b
Hdl 7 |

3. wﬁg@rmy:m;cm‘a@wg 57. 3§ W T@N 1 WHIHWT A1 R S g (2, 9) @
AR Tl B, S ATOHF y-AW W IHH

1 1+1112+c:2

p? o2 IA:WE, UATCHS x-318 T Ih HAd:ES
2| - AT ST 2 ?
U A ¥ HIA-AT/F TE B/2 2
(a) 2x+y=5
(a) 1,233 .
' (b) 2 =17
(b) et 1 Y
(¢) chael 13 2 | () x+2y=7
(d) Had 2 W et

SRCY-S-ADN (21 -A)
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59.

_ 60.
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(a)
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" Let the coordinates of the points A, B, C be
(1, 8,4), (0,-11, 4) and (2, — 3, 1) respectively.

What are the coordinates of the point D which
is the foot of the perpendicular from A on BC ?

(@ (3,4,-2)
b) (4,-2,5)
© 4,5-2)

(d) (2,4,5)

What is the
through the points (- 2, 6, —6), (-3, 10, —9)
and (-5, 0, - 6) ?

equation of the plane passing

() 2x—-y—2z=2

(b) 2x+y+3z=3
() x+y+z=6

d x-y-z=3

A sphere of constant radius r through the

origin intersects the coordinate axes in A, B

~and C. What is the locus of the centroid of the

triangle ABC ?
X% v + 2% = r?

(b) :h12+y2+22=4r2

()  9(xZ%+y2+22)=4r2

Q

(d) 3(x2+v%+2%)=2r?

61.

62.

63.

(22_A)

The coordinates of the vertices P, Q and R of a
triangle PQR are (1, —1, 1), (3, =2, 2)
(0, 2, 6) respectively. If £ RQP = 6, then what

and

is £ PRQ equal to ?
(a) 30°+6
(b) 45°-0
(c) 66" -0
(d 90°-86

The perpendiculars that fall from any point of

" the straight line 2x + 11y = 5 upon the two

straight lines 24x + 7y = 20 and 4x — 3y = 2

are
(a) 12 and 4 respectively
(b) 11 and 5 respectively

(c) Equal to each other

(d) Not equal to each other

The equatibn of the line, when the poftion of it

intercepted between the axes is divided by the

_point (2_, 3) in the ratio of 3 : 2, 1s

(a) Either x+y=4 or 9x+y =12

(b) Either x+y=5 or 4x+ 9y =30
(c) Either x+y=4 or x+9y=12

(d) Either x+y=5 or 9x + 4y = 30




59.

60.
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58. WM WiVT fegatl A, B 3R C & g shaem:

(1, 8,4), (0, - 11, 4) 3 (2, - 3, DF | 34 forg

D% Fréwries a1 8 St AW BC W @e9E B 2
(a) (3,4,-2)

(b) (4,-2,5)

(¢ (4,5,-2)

(d (2,4,5)

fagati (-2,6,-6), (-3,10,-9) 3R
(- 5,0, —6) " BIH oA ATl THAA Hl

il T B 2

(a) 2x-y-—-2z=2

(b) 2x+y+3z=3

(¢) xX+y+z=6

(d)

X—-y—2z=3

qo-forg @ et oA e (areR) B
r %1 T e e et # A, B 3 C W
Fledl 3 | BRs ABC % ek o1 farguyr s
27

2 :"\'2

(a) x%+ y2 +Z
(b) - x2+y2+ 22 = 4r?
€ 9x%+y%+2%) =4r?

(d) 3 (x%+y%+ 22 =2r?

61.

62.

63.

w# ys PQR % 3Nt P, Q 3 R & Fduies
U (1, -1, 1), (3, - 2,2) 3 (0,2,6) 3 | Il
Z/RQP =038, @ ~ PRQ feroeh st 8 2

(a) 30°+0
(b) 45°-8
() 60°—8
(d)  90°-0

o W@ 2x + 11y = 5 % fet oft fog |, @

fwwaﬁ 24x + Ty = 20 3N 4x — 3y = 2 W
TS dTel sl ol SEgAT 8

(a) SRHT: 12 3R 4

(b) SHAS: 1137 5

(c) UH-GHL % S

(d) TH-gEL & S TEf

39 @1 1 gufieRr 1 @ s v & i o
Ha:@fed 3w, g (2,3) % g0 3: 2% U
3 fqmfera gar & 2

(a) Iin?ﬁx+y:4'¢1’f9x+y=12
(b) I x+y=>57%T 4x + 9y = 30
() MW x+y=43x+9y=12

(d) IMA x+y=53 9x + 4y = 30




~ 65.
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64. What is the distance between the straight
lines 3x +4y =9 and 6x+ 8y =157
(a) 3/2
(b)  38/10
€) -6
(d) 5
What is the equation to the sphere whose
centre is at (— 2, 3, 4) and radius is 6 units ?
(a) x2+y2+z2+4x—6y—8_z~—-7
) x2+y?+2z°+6x—4y—-8z=17
() x2+y2+2z°+4x—-6y—8z=4
(d x*+y°+z2+4x+6y+8z=4
=3 =P -3
66. If a and b are vectors such that | a | =2,
Ly — — A A A
| b|=7and a x b =3i +2j +6k, then
' - -
what is the acute angle between a and b ?
(a) 30°
(b) 45°
(c} 860°
(d) 90°
SRCY-S-ADN

67.

68.

69.

(84K

> —> P
Let p and q be the position vectors of the

points P and Q respectively with respect ‘to
origin O. The points R and S divide PQ
internally and externally respectively in the

2 =
ratio 2 : 3. If OR and OS are perpendicular,
then which one of the following is correct ?

(a) 9p?=4q>
(b)  4p?=9q?
(¢) 9p=4q
(d 4p=9q

What is the moment about the point

A A A A A
i +2j — k of a force represented by 31 + k

A A A
acting through the point 21 — j +3k ?
A A A
(a) —-31i+11j +9k

A A A
(b) 3i+2j +9k

: A A A
() 3i+4j+9k

A
1

>

A
+j +

SES — L P
If a+2b+3c¢c =0 and

-5 = > e =
a x:b -+ bx-e # € %X ‘a

then what is the value of A ?

- -
=A(b x ¢

),

(a): 2
(b) 3
(¢) 4
(d 6
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64. T @Il 3x + 4y =9 I 6x + 8y = 15 %6 | g7.
da i gl T a2
(a) 3/2
(b) 3/10
(c) 6
d 5
65. 39 Tl o1 AHIHLOT T & fSTEeRT &g (- 2, 3, 4)
Wy ek s egfed ? 68.
(@ x2+y°+2z°+4x-6y—8z="7
b)) x2+y°+22+6x—-4y—-8z=7
() x2+y2+2z2+4x—-6y—-8z=4
d x2+y2+22+4x+6y+8z=4
5 — & —
66. e a4 M b Wakm & % |a | = 2
—> — —> A A i
| |=73W a x b N, WORIETE X e
& =2
a 3 b % fe 1 =E R 2
(a) 30°
(b) 45°
(c) 60°
d) 90°
SRCY-S-ADN (25—A)

T S qa-fag 0 % wma, fagat p et
¥ foufy wfem wAw: p ol g § | fg R 3l
S, PQ ! SATANeh 3R 16 ®9 & hu3: 2: 3
T ffr w3 § | 9 OB 308
W e ¥, d Pefelad § & e ad @ 0

(a) 9p?=4q?

(b) 4p?=9q¢>
. (&) 9p=4q
(d 4p=9q

A A : A A. A
3i + k § F&ltd 5@, S f9g 21 - j +3k ¥
. A A N

FRA @, BTG i +2) — k & G AT0f &=
372

A A- A
(a) —31i+11j +9k

A A A
(b) 31 +2j +9k

A A A
(¢) 31+4j +9k

(a) 2
(b) 3
() 4
(d 6
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- -
70. If the vectors k and A are parallel to each

-5 =
other, then what is kk x A equal to ?

_.._}
(a). k%A
=
b) 0
. %
(¢) -Kk2A
_)
d) A

71. Which one of the following is correct in
respect of the function f: R — R' defined as
)= ix +1|?

(a) f1x?) = [f(x)]?
(b) fl|x|)= |fix)]
(c) fix+y)=1fx)+1fy)
(d)  None of the above
72. Suppose f: R — R is defined by
2
flx) = —= = What is the range of the
1+x :
function ?
(a) [0,1)
(b) [0,1]
(e} (0,1]
(d) (0,1)
SRCY-S-ADN

73.

74.

75.

(26-A)

If fix) = |x| + |x— 1], then which one of the
following is correct ?

(a) flx)iscontinuousatx=0andx=1

(b) f(x) is continuous at x = 0 but not at
x=1
(¢) flx) is continuous at x = 1 but not at

x=0

(d) f(x) is neither continuous at x = 0 nor at

=1

Consider the function

x2in ot e - 20)
fix) = :
0 x=0
What is £'(0) equal to ?
(a) 0
(b) 1
() -1

(d) It does not exist

What is the area of the region bounded by the
parabolas y? = 6 (x — 1) and y2 = 8x ?

J6
(a) 3

2.6
3

46

3

5.6
3

(b)

(c)

(d)




70. IR wRW K s A wHw ¥ wwiw §, @
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_)
kfo%a%aw%?

—>
(a) kZA
—>
b)) 0
—>
(e -—-kZ2A
—
d A

7. ®eH f: R RY, 9@ fx) = [x + 1| % g
aforfa B, & wed § frefafea # @ s
we?

(@ fix?) = [fx)]?
(b) fi|x|)= |fix)]
(0 fix+y)=1fx)+ 1y
(d) S9dF 4 | i T

72. WM oif9T f: R — R, fix) = lig F g

gfenfya B | 389 s o afer () o R 2
(2) [0,1)
(b) [0,1]
© ©1
d (0,1)

SRCY-S-ADN

73.

74.

75.

(27 =AY

e f(x) = |x| + |x - 1| 8, @ Foafefaa 4 @
HH-A1 TE B 2

(a) fix), x=03N x=1T Fad a
(b) fix), x=0R d Hdd &, Ak x = 1 T &l
(¢) fx), x=1W @ Had &, Aferd x = 0 T &

(@ fix), T x=0WHAM B AT x=1]

ETSE
x?In|x| x=#0

f(x) = T fo=m hifse |
.0 x=0

£(0) feptreh se B 2

(a) O

b 1

(¢ -1

d) 3G Hfeacs I8 8

T y2=6(x - 1) 3N y2 = 3x A1 TEg &
& SABA TR 2

(a)

(b)

(c)

wl% w‘g w‘% w!éﬁ

(d)




Consider the following information for the|
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next three (03) items that follow :

Three sides of a trapezium are each equal to

6 cm. Let o e [0, g] be the angle between a

pair of adjacent sides.

76. If the area of the trapezium is the maximum
possible, then what is o equal to ? \
n
(a) ‘6"
hyle &
(b) 1
T
(c) 3
2n
T
(d) 7
77. If the area of the trapezium is maximum,
what is the length of the fourth side ?
(a) 8cm
(b) 9cm
(¢) 10cm
. (d) 12em
78. What is the maximum area of the trapezium ?
(a) 3643 cm?
(b) 3043 cm?
(¢) 273 cm?
(d 243 cm?
SRCY-S-ADN

b1

79. What is J. e* sin x dx equal to?

80.

81.

(28-A)

0

(a)

(b)

(e et +i

e 4

(d)

x2 -9 : :
If f(x) = @ me i S 3 is continuous at
x“-2x-3 '

x = 8, then which one of the following is

" correct ?
(a) f3)=0
(b) f3)=15
() f8)=3
(d f3)=-15

e

What is j‘ xInxdx equalto?

(a)

(b)

(c)




AT H1 are /i (03) TV & fore REforfaa
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w1 o¥ faemy #fe

T U hl dH gI s 7 o T ¥
U H AWE 6em B | "A AT
ae(o.g}dwgmaﬁ%wglu%mw
I 7 |

76. dfc GAs *1 &% guifad siftrerad 2, 91 «
fopger STeR 2 9
(@) =
a) 5
W I
(b) 1
T
) A,
(c 3
2n
il e
( 5
77. IG GO9S H HABA AR 7, q TGS
&1 TS T B 2
(a) .8cm
(b) 9cm
(e) 10 ecm
(d) 12cm
78. YU T AThdH STH FIT 8 2
(a) 36+/3 em?
(b) 30\/§ em?
() 273 em?
(d) 243 cm?
SRCY-S-ADN

n

79. Iex sin x dx, TrEesh SRR 2 -

80.

81.

(29-A)

0

(a)

(b)

(e) e™ +1

a® ]

(d)

x2 -9 o
Ifa f(x):2—,313Tx¢3%,x=3 Ty

x“-2x -3

Had @, @ Ffafed 4 @ wha w8 2 2

(a) f3)=0

(by f3)=15
(C) f(3) =3
(d fi3)=-15

e

I xlnxdx,ﬁl?ﬂa?aﬂa{%?

Glj = ; 1
) e24+ 1
@ e;l
() 824"1
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J2
82. Whatis J. [x%l dx equal to (where [.] is the
) :
greatest integer function) ?
(@) V2 -1
b 1-42
© 2(2-1
d V3 -1
83. What is the maximum value of
16 sin 6 — 12 sin% 6 ?
(a) 3/4
(b) 4/8
(¢) 16/3
d 4
84. If f:R— S defined by
f(x) = 4 sin x — 8 cos x + 1 is onto, then what is
S equal to ?
(a) [-5,5]
(b) (~5,5)
() (-4,6)
(d) [-4,6]
SRCY-S-ADN

85.

86.

B7.

(30—A)

For f to be a function, what is the domain of f,

ifﬁﬁ:-Fﬁt;?

(a) (=, 0)

() (0, )

(€) (=00, )

(d) (=o0, 0]

What is the solution of the differential

equationxdy—ydx=07?

(a) xy=c

(b) y=cx

() x+y=c

(d =x-y=c

What is the derivative of the funection

flx) = e®®2* 4 In (sec x) — e/ * at x = %;E ?
(a; e/2

(b) ‘e

() 2e

(d) - 4e
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J2 85. 3l fTH Bo &, dl £hl Wid (SH4) =1 8 =Afe
) o 1
82. [x?] dx, feraeh SR B (&Y [.) Agww qUiish fix) = 87
v[ Jix|-x
d .
B B) ?
) (a) (=0, 0)
@) — /2 —1
(b) (0, o)
B) 1~+2
() (= oo, 00)
© 2(42 1)
(dy +B8=1

86. 3TTHA THIH xdy —ydx =0 1 & FT 8 ?
83. 16sin 06— 12 sin2 6 I ehdy AF A1 8 ?

R Ryi=e
(a) 3/4
(b)  4/3 oy T
() 16/3 ' () x+y=c
d 4 . (d x-y=c

87. WoH flx) =" * 4 [n (secx) — e ¥ H x = - T

n
84, ARF:R— S, TE ) =4 sinx—3cosx+1, 4

STaHAST T 8 2
ATEBTEF B, A S foheeh sUer B 2
(a) ef2
(a) [-5,5]
M5 5,5 =
() (-4,6) (c) 2e
@ [-4,6] W s

SRCY-S-ADN (31-A)
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88. Which one of the following differential

equations has a periodic solution ?

(a)

(b) —‘-.—-ux=0
(¢) x— +ut=0

(d) s uxt =0

where p > 0.

89. What is the period of the function f(x) =sinx ?

(a) m/4
(b) mw/f2
(¢c) m
(d) 2n

equal to ?

90. Whatis
LIRS |

(a) In(2ZX-—1)+c

2 =K
(b) In(1-2 )+ A
n2

n@2™>-1)
—_—— +c

)
A& %0n 2

nh(1+2™)
+c

(d
: n?2

SRCY-S-ADN

91.

92.

93.

(32-A)

The order and degree of the differential

[P

equation y?=4a(x—a), where ‘@’ is an

arbitrary constant, are respectively

(a 1,2
(b)) 2,1
() 2,2
@ 1,1

nf4

What is the value of (sinx—-tanx)dx ?°

— nf4
1 1
@y o — + In|—
72 "(&]
1
(b} /= hms
J2
@0
@3B

b b
If J‘ x3dx = 0 and J. x?dx = %,then
a : a

what are the values of a and b respectively ?

(a) -1,1
) O 4 §
(¢ 0,0
@ 2,-2
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88. fmfetfiad sreehet wfloni # @ forment et | gy

B8 2

(a) ~3:—§+p,x=0
(b) %:—;—p.x=0
(c) x% +ut=0

dx
(d Lot t=0
b g

& u>0 % |

89, W f(x) = sin x I AR FIT 8 2

(a) mf4
(b) m/2
() m
(d 2n

, Topuss sUe B 2

90. o
' 2% -1

(a) In2*-1)+c

Inl- 29
bbbt W W,

b
") in?2

(2= <1)

©) 2In 2

In(1+2™)
— "4

d
e n2

SRCY-S-ADN

92,

(33-A)

y2=4a(x—a),3ﬁ‘a’@@ﬁ5ﬁﬂ?\'%, ED
JTaehcl THIRT HI ife (ATR) ot uma (ferft)

(@)

AT

(a) 1,2

b)) 2,1 .

() 2,2

@ 1,1

/4

J. (sin x - tan x) dx %[ HIF RIT§ ?

— /4

(a) _T + ln(%]
1

h) —
J2
0

@ V2

b b
93. E|ﬁJAx3dx=0i”FﬁTJ.dez-:=

2 & &

aaﬁtab%ktrmm:w %a?

(a)
(b)
(c)

(d)

-1,1
Ll

0,0
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} 97. If f(x) is an even function, where fix) # 0, then
' hi Pikio fallbwinein dofee 7 ‘
94. Whatis J. x (1-x)?dx equalto? which one of the following is ¢orrec

o A (a) f(x) is an even function
1/110
) / (b) f‘(x)is an odd function
(b) 1/132 2
(¢) f(x) may be an even or odd function
(¢) 1/148 depending on the type of function
(d) 1/240 ; (d) f'(x)isa constant function

2 ' -
tan x equial'to 2 98. If y = e sin 2x, then what is % At x =20y

equal to ?

95. Whatis lim

x—0 sin 2x

2
(@) 1/2 (a) (Q+m e
by 1 9
(b) 2me™
(¢c) 2
. 2
(¢) 2e™
(d) Limit does not exist
(d) e"z
| Pl ~J2
96. - Whatis lim x +3h - J2x equal to ? _ ‘
h—0 2hb - 99. What is the solution of
o 1 (1+2x)dy~(1-2y)dx=07?
o ; !
242x :
(@) x-y-2xy=c
R Y B |
2x (b) y-x-2xy=c
(c) 2 () y+x-2xy=c
/2%
_ d =x+y+2xy=c
@ —
4/2x

SRCY-S-ADN ' (34-A)
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1 |97, IR fx) TH W9 BeW 8, F&f fix) 2 0 B, @
94, I x(1-x)?dx, TorEeh ST & 2 fefafga d @ s g 2 2
0
(a) f'(x) 99 B &
(@) 1/110
(b) f'(x) v\ Ham B
(b) 1/132
(¢) f'(x)E" 31 a9 B & Tehar B, S e
© 1/148 F TR T i e 2
@ 1/240 (d) () Th 3T A

95, i S2RE Rerdwmr R o
x—0 sin 2x

2
98. IR y=e* sin2x B, a@ %X F x = n T A,
X .

(@) 1/2 ' foraeh seX 2 2
b 1 BNt s 1) o
(c) 2 2

(b) 2ne”"
(d) Hmr  HAfedcy 78t 8 2

(e) 2e™

@

96. lim "2“3}1_@,%&%@(%?

h—0 2h
(a) .
oVox 99. (1+2x)dy—(1-2y)dx=0, T FT& ?
3
b — (a) x-y-2xy=c¢
2x
3 (b)) y-x-2xy=c
(c)
2v2x
(c) y+x-2xy=c
@ -3
42x - (d x+y+2xy=c

SRCY-S-ADN (35-A)
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100. What are the order and degree, respectively, of

the differential equation 103. If the correlation coefficient between x and y is

ady 2 gy 5 ) 06, covariance is 27 and w‘iariance of y is 25,
[Exﬁ'} 70 Yo [E;) ' . then what is the variance of x ?
(a) 4,5 . ; : (a 9/5
®) 2,8 . ' (b) 81/25
(e) 38,2 @ .9
(d 5,4 . @ 81

101. In a Binomial distribution, the mean is three
times its variance. What is the probability of| ;94

o ot ut o b A . The probabilities that a student will solve

Question A and Question B are 0'4 and 0-5

(a) 80/243 respectively. What is the probability that he
solves at least one of the two questions ?

(b)  40/243 '
(a) 06

(¢) 20/243 \®B) 07

(d) 10/243 ‘ (¢ 08
(d 09

102. Consider the following statements : '
4 P(A UB) =P(A) + PB=F(A N B) 105. Let X be the mean of x;, xé, Ko 4ray, X0 IE

9 P(A N B)=P(B) - P4 N B) x; = a + cy; for some constants a and c, then
" what will be the mean of y;, ¥, ¥g5 --» ¥, ?

3. P(A N B) = P(B) P(A|B)
(a) a+cx
Which of the above statements are correct ?

Lrat
(a) 1and2only (b) a- o X
(b) 1and3only 1
(c) 'E X —a
(¢) 2and3only
X—a
(d 1,2and3 (d) -

SRCY-S-ADN (36-A)
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A 3..\2 5

100. 3(ThaT  GHIRT (d—?i] = yis (ﬂj ,
dx3 dx

Hife (TR 3R ura (ferft) spmwr. = & 2

(a) 4,5

M) 2,3

(e) 3,2

(d 5,4

101.

3 b gifreRdr = 2 2

(a) 80/243

(b) 40/243

(c) 20/243

d) 10/243

102, fr=fafed suat w fomm Hifsw .
1. P(A UB)=P(A)+PB)-P(A NB)

2. P(ANB)=P®B)-PANB)

3. P(ANB)=P®B)PA|B)

ST | ¥ S FU TEE ?
(a) had 13N 2

had 13K 3

% 2 31 3

1,23 3

(b)

(c)

(d)

SRCY-S-ADN

us fgug &ieq W, e, oo &1 o T (fore)
2| 5 @ (W) § ¥ ddie 3 gwadn

Edl

(87 — )

104.

105. AF ®NT x,, x,, Xg, ...

103.aﬁxaﬁxy%d’taasﬁa'agvﬁ$o-s%,

TEIET 27 B 3 y BT YO 25 B, @ x
TET T 8 2

(@ 9/5
(b) 81/25
© 9

(d) 81

e faeneff gro w99 A 3k 91 B ) &9 ™ U
1 TTReRaTd SHHST: 0-4 3T 0-5 8 | &R STRehdr
%%a‘s’aﬁmﬁ%mﬁwwﬁﬁw
T 2

(a) 06
(b) 07
(¢ 08
(d 09

, x, AT X B |

?Ilﬁix-=a+cy-%,ﬁlﬁa3ﬁicﬁ'§w%,ﬁ
l l

V1> Yop Ygs ooes ¥, 01 HIEH &1 BATT 2

a+cx

(a)

(b) a—li
c

L

(c)

o |-

pl
I
w

(d)




106.
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Consider the following statements :

1 If the correlation coefficient S 0, then

the two lines of regression are parallel to

each other.

% If the correlation coefficient Ly i

L +1,

then the two lines of regression are

perpendicular to each other.

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Both1land?2
(d) Neither 1 nor 2

If 4x -5y + 33 =0 and 20x — 9y = 107 are

two lines of regression, then what are the

values of X and ¥ respectively ?

(a) 12 and 18
(b) 18 and 12
(¢) 13 and 17
(d) 17 and 13
SRCY-S-ADN

108.

109.

(38-A)

Consider the following statements :

1.  Mean is independent of change in scale

and change in origin.

2. Variance is independent of change in

scale but not in origin.

Which of the above statements is/are correct ?

(a) 1only

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2

Consider the following statements :

1. The sum of deviations from mean is

always zero.

2, The sum of absolute deviations is

minimum when taken around median.

Which of the above statements is/are correct ?

(a) 1only

(b) 2only

(¢) Both1land?2

(d) Neither 1 nor 2
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106. F=fafga suat w fomm Sifs -

107.

1 W weEEw T ro-0 3, @ A
HHIHA T@TE Th-GH h I 2 |

2. A WEESH TN ry = +1 8, A I
THTHAT T IR & 8 |

Y

(é) *ad 1

(b) A 2

(e)

13T 21

(@ Ad1LITE2

A 4x — 5y + 33 = 0 3 20x — 9y = 107
THIHAV W@ &, @ x 3R y & W HA: =

g7

12 37 18

(a)

(b) 18312

(¢) 13317

(d 17313
SRCY-S-ADN

108, F=feiRad et w femm Hifsw .

109.

(39-A)

1. Hied, A19sRH § Seed SR gt # daere |
@A 2 |

) SERU, HIGHH H§ Feeld 8 Tad 8 U g6

7 SgarE | TE |
o # § HE-A/T HAA T R/E 2
(a) A 1
(b) e 2
() 13 2gH

(d dd 1,982

fefafes s w f=r Hifsw .

1 _mwﬁﬁaaﬁwzﬁwaéawam
g |

2, ﬁtﬁaﬁaﬁsﬁraﬁmaﬂ:ﬁaﬂaﬂ%
9 9 Hifedenr @ forw sma §

3UYFd HUAl § T HHE-AT/D TE /R 2

(a) hdd 1

(b) had 2

(c) 13 2TMl

@ TMLIB2
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www.govtjobsalert.in

What is the median of the numbers

46, 0, 93, — 48, 7-6, 2:3, 127, 35, 82, 61,
39,527

(a) 38
(b) 4-9
(a): [C= B
(d 60

In a test in Mathematics, 20% of the students

obtained “first class”. If the data are

represented by a Pie-Chart, what is the

central angle corresponding to “first class” ?

(a) © 20°

(b) 36°

(c) 22

(d) 144°

The mean and standard deviation of a set of

values are 5 and 2 respectively. If 5 is added to
each value, then what is the coefficient of

variation for the new set of values ?

(a) 10
(b) 20
(e) 40
(d) 70
SRCY-S-ADN

113.

114,

116.

(40-A)

A train covers the first 5 km of its journey at a
speed of 30 km/hr and the next 15 km at a
speed of 45 km/hr. What is the average speed

of the train ?

(a) 35 km/hr
(b) 375 km/hr
(¢) 395 km/hr
(d) 40 km/hr

Two fair dice are rolled. What is the

probability of getting a sum of 7 ?

(@) 1/36
(b) 1/6

eyt /12
(d) 5/12

If A and B are two events such that
2P(A) = 3P(B), where 0 < P(A) < P(B) < 1, then

which one of the following is correct ?
(a) P(A|B)<P(B|A)<P(ANB)
(b) P(AANB)<PB|A) <P(A|B)
() P(B|A)<P(A|B)<P(ANB)

(d PANB)<PA|B)<PB|A)
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110. HEITAT 46,0,9-3,—48,76, 23,127, 3:5, 82, |113. T iQ‘fl‘Hgl YA 9T % gAY 5 km, 30 km/hr
6'1, 3_9, 5‘2£|' ’q-rf@aﬂ W % ? ﬁ W ﬂ 3?'_{ 3:|T|é 15 .l".ll_l, 45 knl/hr ﬁ W
: Y a9 H & | oS! 1 sitea =er F R 2

(a) 3-8

(a) 35 km/hr
(thy 49

(by 375 km/hr
() B7

(c) 395 km/hr
(d) 60

(d) 40 km/hr

111. TG 1 U whien §, 20% o “gom A0 wreq

Fd F | A 7 F O A ~ g '
| EHEFTW‘T%' (ﬁjﬁ@)wlm'aﬁwamﬁrﬁwmalﬁqTWT
Frefin fen man 8, @ oam R % dm| e lel

g 0T T R 2

(a) 1/36
(a) 20°
(b)  36° b\ 2
ey T () 7/12
(d)  144° (@  5/12

112. YFHTOT (AHT) & UH BH=E 6, WEA SN A
fouem sHe: 5 3t 2 8 Eqﬁmwll5aﬁA3ﬂwamﬁmW§ﬁg
(wH) 4 5 Sre fem S, o 9fmmn % A 2P(A) = 3P(B) 78T 0 < P(A) < P(B) < 1 &, dl

T 1 TSRO T e 2 Feafafea d @ S ad 2 2

@ 10 (a) PA|B)<PB|A)<PANB)
by 20 (b)  P(ANB)<PB|A)<PA|B)
@ 40 (¢c) P(B|A)<PA|B)<PANB)
& 70 (d) P(ANB)<PA|B)<P(B|A)

SRCY-S-ADN (41-A)
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A box has ten chits numbered 0, 1, 2, 3, ..., 9.
First, one ‘chit is drawn at random and kept
aside. From the remaining, a second chit is
drawn at random. What is the probability that

the second chit drawn is “9” ?

(a) 1/10

(b) 1/9

(¢) 1/90

(d) None of the above

One bag contains 3 white and 2 black balls,
another bag contains 5 white and 3 black

balls. If a bag is chosen at random and a ball

is drawn from it, what is the chance that it is
.white 7
(a) 3/8
(b) 49/80
(c) 8/13
(dy 1/2
SRCY-S-ADN

118.

119.

120.

(42-A)

Consider the following in respect of two events
AandB:

1. P(A occurs but not B) = P(A) — P(B) if
BcA :

2 P(A alone or B -alone
P(A) + P(B) — P(A N B)

oceurs) =

3 P(A U B) = P(A) + P(B) if A and B are

mutually exclusive

Which of the above is/are correct ?

(a) 1lonly

(.b) 1 and 3 only
(¢) 2and3only
(d) 1and2only

A committee of three has to be chosen from a -
group of 4 men and 5 women. If the selection
is made at random, what is the probability
that exactly two members are men ?

(a) 5/14
(b) 1/21
() 3/14
d) 8f21

The standard deviation o of the first N natural
numbers can be obtained using which one of
the following formulae ?

=
b)) o= Nzlz— :
() o= %
(d o= N:ﬂ; 1
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116. T fssa § 10 ufai € o ww 0,1, 2, 3, ..., 9

117.

SRCY-S-ADN

forar gam @ | ugdl U u=ll Igesd fereh
St @ SR U W W@ @ A 7 | b gi
49, wh gudt o= ageew feeedt s @ )
el 9=l % “0” B Y ATRrehar I B 2

(a) 1/10
b 1/9
()

(d) ST ¥ ° HIE T

1/90

Th Il H 3 W IR 2 He S E, gl 9§
5 Th 3N 3 Feht W & | IRk @ AW+
ATgeSAT A I & SR 3FH A s dig fFereh
St B, A g o T B <l T riiehar § 2
(a) 3/8
(b)  49/80
() 8/13

@ 1/2

118. T g3l A R B & el #, fafafes w

119.

120.

(43-A)

foam Fifse .

1. P(A=fd g afsr B &) = PA) - PB)
FeBc A

2. P(®FA@ A I Haad B =i @) =
P(A) + P(B) - P(A N B)

3. P(AUB)=P(A) + P(B)afe A 3R B IR
el &

IFd § @ FE-A7E g8 82 2

(a) had 1

(b) hael 137 3

(c) whad 23N 3

(d) e 131K 2

4 9591 AR 5 Afgeredl & wh wyg # ¥ 3 @
1 ek winfa &1 ==e e 9§ | afe s
ArgesAt fopar smar &, o @ wifirehar € T ge
-3 2 HeEd JoY &/l 2

(a) 5/14
(b) 1/21
() 3/14
@ 8/21

fr=fafea 4 @ fva @3 &1 99+, 99w N
WThfcreh HEATST 1 W foreed o, I fapar
T HehaT 8 2

(@) o= N212— :
(b) o= Ni; L
(60 o= %
) o= N:}; L
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SPACE FOR ROUGH WORK
=t w1 o fore wre
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SPACE FOR ROUGH WORK
H I & oo T

RCY-S-ADN (47 -A)




www.govtjobsalert.in

S 7 HTTH T THLT GieranT @ier &1 T HgT AT T % T Giet

A. &1, =, : SRCY-S-ADN wdieror gierent STTswH

T

nwa%wa“aﬁ?a?wﬁva guries : 300

10.

A
uﬁwmgﬁ%wm,mwuﬁwg@mﬁmmwﬁ%sﬁﬁfﬁmw,
mm'{grgmwarwm,aﬁqgﬁlaﬁﬁm%,ﬁsﬁﬂﬁuﬁwgﬁwﬁmml
FuaT 4 W@ fh OMR Iw-09eh #, ST som w, e Twe Sfi adteron giwent (¥
1) A, B, C T D &, 2 ¥ va famn foneht <o o fawmia & o oft gpemg w0 o6 el
soffeam 1 B | TRl oft weee Y ues /famfa < feurfer o setousres frea @t T <mem |
<0 eoT qieeRT W HTY H feT T Hissh H SIR! ST ‘
TR forea B | wlew gieaest W e g T o |
=g gl e § 120 T (7)) Ru e # | g s R SR st 1 H B 8 | T
oA B AR YegE () fu e | 3 & U gegeR g o, 8 o Se-me W sAhd
TR & | A AT vET o 5 U ¥ A YR WA ¥, a1 38 JegTl i Sfhd L S TR i
o | Y TS % U ST 0§ TegT g R |
IR S T TR e ¥ 2w T SevEes W F7 Sifehd H # | I | fou e ey efe |
T Yo o 37 FHM 7 |
TEd Eel b 311 e qiEae & R SR % YRR STH-UES W AT B IE H, AT e
OGS ¥ Ty UG e % IgER S faawer IwuEs H7 E |
maﬁmﬁigﬁﬁm-mﬁmﬁ%mamqﬁw%wma‘,ac‘-rm-wmﬂwﬁ
T 3 | e g1 glteror gt & S A1 Al 2 | j
el I T s qleor giient & 37 § §erF & |
'{Fﬁﬂﬁﬁﬁiﬁ‘l‘({m:

TEiE weA-uEt § Ieftgar g fu T et st o fore que fean s |

() uerE W ¥ U SR Swieye IR | SfiaR g Sk W % fore e e e e IR 6 foe g
74 TR fopy o 3Rt 1 Ueh-ToreTE qus % w9 H e W |

(i) I B Iefiear U & orfye I a1 8, @1 39 Terd IW M e, Jefy fiu T Swd d @ s I
wE a1 3, T oft 38 woa o fore Swfwigar &) 3 @ w1 gue feam e |

(i) afE Ifiear g RIS W B T8 e S 2, atefq sefiean g IR 9d e e 2, A 59w ¥
foru, rg gu= & fean o |

ST A HATTHT T TAHUT GIeaasT @ieT &1 7 gl AT T aa 7 @iet

Note : English version of the instructions is printed on the front cover of this Booklet.
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